
City Question 2  

To vote for a question, fill in the oval next to the word 
“Yes” on that question. To vote against a question, fill in 
the oval next to the word “No” on that question. 

 

City Questions 

City Question 1  

Yes 

No 

The Question Title Must Consist of Ten or Fewer 
Words 

The body of the question is printed here in upper and 
lower case letters, as large as possible, but in no case 
smaller than 10 point type. The title must be printed in the 
same section as the body of the question to which it re-
fers, and must also be in no smaller than 10 point type. 
“Yes” and “No” must be placed directly below and no 
smaller than 10 point and bold. 

Yes 

No 

City Question 3  

Yes 

No 

 
The Question Title Must Consist of Ten or Fewer 

Words 
 
The body of the question is printed here in upper and 
lower case letters, as large as possible, but in no case 
smaller than 10 point type. The title must be printed in the 
same section as the body of the question to which it re-
fers, and must also be in no smaller than 10 point type. 
“Yes” and “No” must be placed directly below and no 
smaller than 10 point and bold. 

The Question Title Must Consist of Ten or Fewer 
Words 

When two or more questions from the same jurisdiction 
appear on a ballot, the questions must be numbered. All 
other formatting rules apply, however, you do not need to 
repeat the instructions. 

Special Election Ballot 
City Election Ballot 

City of ___________ (Optional) 
(Month) ___ , 2021 

Official Ballot 
 

Judge________ 
 

Judge________ 

Instructions to Voters: 
To vote, completely fill in the oval(s) next to your choice(s) like this: 

BY VOTING ”YES” ON THIS BALLOT QUESTION, YOU 
ARE VOTING FOR A PROPERTY TAX INCREASE 
 
The maximum amount of increased levy as a percentage of 
market value is ___________% 
 
The amount that will be raised by the new referendum tax rate 
in the first year it is to be levied is $________. 
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